| > restart
| > with(inttrans) :
> fi=51

(> F = laplace( 1, t, s)

=> ff = inviaplace(F, s, t)
> g = cos(8-1)

> G := laplace(g, t, s)

> h:=sin(81)

> H:= laplace(h, t, s)

> restart

> Ecua == diff (y(t),t) —6-y(t) =0

> Condni == y(0) =4

> with(inttrans) :

f:=5t3
30
F:=—4
K
]7:=5t3
g:=cos(81%)
G:= 3 §
s+ 64
h =sin(8 ¢)
H:= 28
s+ 64
Ecua:i (1) —6y(1)
: dty Y

CondlIni :=y(0) =4

> EcuaTL = subs(CondlIni, laplace(Ecua, t, s) )

EcuaTL :=slaplace(y(t),t,s) —4 — 6 laplace(y(t),t,s) =0

> SolTL := isolate( EcuaTL, laplace(y(t),t, s) )

> SolPart = inviaplace(SolTL, s, t)

;> restart
> f:= Heaviside(t —4)

SolTL := laplace(y(t), t, s) = s—

SolPart :=y(t) =4e

f=Heaviside(t — 4)

[> plot( £, t=-1..10, scaling = CONSTRAINED)
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;> with(inttrans) :
> F:=laplace(f, t,s)
-4
e

N

Fi= (14)

> g = Heaviside(# —4) — Heaviside(t —5)
g = Heaviside(# —4) — Heaviside(f —5) as)

> plot(g, t=-1..10, scaling= CONSTRAINED )




=> G = laplace(g, t, s)

> r:= (t—15)-Heaviside(t — 5)
r:= (t—5) Heaviside(t —5)

[> plot(r, t=-1..10, scaling = CONSTRAINED)
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> R = laplace(r, t, s)

R = (18)




